
2q mvgwqK cixÿv 1443 wnRix 

gvÕnv`yj eyûwmj Bmjvwgqv 
ewmjv Mv‡W©b wmwU, gynv¤§v`cyi, XvKv-1207  

wefvM : Zvndxhyj KziAvb  
(kvLv ÒKÓ 30 cviv) 

 

µ QvÎ‡`i bvg 
wndhyj 

KziAvb 
wmn&nvZ 

wmdvZ I 

ZvRex` 
mybœvZ I `yÔAv mgwó Mo cÖvß wefvM †gav ZvwjKv 

        m‡e©v”P b¤^i 100 90 94 100 383    

1 gynv¤§v` mvÕAv` 100 90 93 100 383 95.75 gygZvh 1g 

2 gynv¤§v` Avãyj nvbœvb  70 90 92 100 352 88 gygZvh  

3 Avãyjøvn gynv¤§v` wmqvg 80 88 94 100 362 90.5 gygZvh  

4 Avkivdzj Bmjvg 80 88 93 99 360 90 gygZvh  

5 Zvnmxb Avngv` 100 88 91 98 377 94.25 gygZvh  

6 Ave~ eKi mvjgvb 70 90 90 90 340 85 gygZvh  

7 Dgi dviƒK 100 88 94 100 382 95.5 gygZvh 2q (K) 

8 gyÕAvh Avinvg 100 91 92 97 380 95 gygZvh 3q  

9 evBhx` Avngv` 65 88 93 98 344 86 gygZvh  

10 Zvdnxgyj Bmjvg 70 90 93 95 348 87 gygZvh  

11 eLwZqvi DÏxb 100 90 92 100 382 95.5 gygZvh 2q (L) 
`dZ‡i ZvÕjxgvZ 

gvb eÈb: 
†gvU b¤^i  :  1004 = 400 
gygZvR  :  804 = 320 
Rvwq¨` wRÏvb : 654 = 280 
Rvwq¨`  :  504 = 200 
gKe~j  :  354 = 140 
 



2q mvgwqK cixÿv 1443 wnRix 

gvÕnv`yj eyûwmj Bmjvwgqv 
ewmjv Mv‡W©b wmwU, gynv¤§v`cyi, XvKv-1207  

wefvM : Zvndxhyj KziAvb 

(kvLv ÒLÓ 20 cviv) 
 

µ QvÎ‡`i bvg 
wndhyj 

KziAvb 
wmn&nvZ 

wmdvZ I 

ZvRex` 
mybœvZ I `yÔAv mgwó Mo cÖvß wefvM †gav ZvwjKv 

        m‡e©v”P b¤^i 100 90 94 100 374    

1 Avixdzi ingvb 100 90 90 80 360 90 gygZvh  

2 dvinvb mvw`K 90 88 92 99 369 92.25 gygZvh 3q 

3 gynv¤§v` Dgv‡qi 90 90 91 100 371 92.75 gygZvh 2q 

4 BDmyd ûmvBb 80 88 94 100 362 90.5 gygZvh  

5 gynv¤§v` ZvInx` 85 85 92 98 360 90 gygZvh  

6 gybxi ûmvBb 75 88 93 100 356 89 gygZvh  

7 Avixdzj Bmjvg 85 88 93 100 366 91.5 gygZvh  

8 AvBgvb gvng~` 90 90 94 100 374 93.5 gygZvh 1g 

9 Ave~ eKi (Bjnvg) 85 90 92 98 365 91.25 gygZvh  

10 gÕyAvweqv gynv¤§v` gymvB` 90 88 92 95 365 91.25 gygZvh  
`dZ‡i ZvÕjxgvZ 

 

gvb eÈb: 
†gvU b¤^i  :  1004 = 400 
gygZvR  :  804 = 320 
Rvwq¨` wRÏvb : 654 = 280 
Rvwq¨`  :  504 = 200 
gKe~j  :  354 = 140 
 



2q mvgwqK cixÿv 1443 wnRix 

gvÕnv`yj eyûwmj Bmjvwgqv 
ewmjv Mv‡W©b wmwU, gynv¤§v`cyi, XvKv-1207  

wefvM : Zvndxhyj KziAvb 

(kvLv ÒMÓ 10 cviv) 
 

µ QvÎ‡`i bvg 
wndhyj 

KziAvb 
wmn&nvZ 

wmdvZ I 

ZvRex` 
mybœvZ I `yÔAv mgwó Mo cÖvß wefvM †gav ZvwjKv 

        m‡e©v”P b¤^i 100 90 94 100 383    

1 †Mvjvg iveŸx 85 85 93 90 353 88.25 gygZvh  

2 Dgi dviƒK mvDevb 100 90 93 100 383 95.75 gygZvh 1g (K) 

3 gvÕiƒd wejøvn 100 90 93 100 383 95.75 gygZvh 1g (L) 

4 ivwReyj Bmjvg 95 88 94 100 377 94.25 gygZvh 2q 

5 Rvnv½xi Avjg 100 90 93 85 368 92 gygZvh  

6 AvjgMxi ûmvBb 80 88 92 95 355 88.75 gygZvh  

7 gynv¤§v` Avj-Avgxb 90 85 92 98 365 91.25 gygZvh  

8 Zvkdxi †gvjøv 80 85 93 99 357 89.25 gygZvh  

9 Avãyjøvn Avd&dvb 95 88 93 80 356 89 gygZvh  

10 kvnxb Avngv` 80 88 91 99 358 89.5 gygZvh  

11 Avãyi ingvb 100 90 92 98 353 95 gygZvh  

12 Rvwn`yj Bmjvg   Abycw¯’Z 

13 kvweŸi ingvb 100 90 93 89 372 93 gygZvh 3q 

14 Ave~ Zvjnv 75 85 92 88 340 85 gygZvh  

15 gynv¤§v` Avdxd 85 88 92 90 355 88.75 gygZvh  
`dZ‡i ZvÕjxgvZ 

gvb eÈb: 
†gvU b¤^i  :  1004 = 400 
gygZvR  :  804 = 320 
Rvwq¨` wRÏvb : 654 = 280 
Rvwq¨`  :  504 = 200 
gKe~j  :  354 = 140 
 


